EANRAROBREIEHRT — 2 N—XBISYH —F 201358118 (+) 2EE==7H

nmlﬁyﬁm 1000FF ¥5RaAmit (155] =8 BRI
[KE4] 1 % :14,400,000 @ 2 7 :5,800,000 @ 3 7 :3,600,000 @ 4 7&:2,200,000 @ 5 & :1,440,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_» _5 4 5 | FlREX 2:00.3 1-1-1 34.6101.4| 2 468 | HOEZ (EH)
74—>F V-7 B 55.0 - (e | BEEH LY
L:viNnNygLhTr B:AU-TITSoF [ed=tie]
-3, j=x_ 5 ft 5 | AHEEE 2:00.7 6-6-6 |34.5|97.1 | 3 466 |ERE— (FR)
/) 7x%—7 ‘ 55.0 2 1/2) (+12) AT
R:w>NnNy&h7xz B:U-—"TH¥w—7 Liflib e
Fo AL it 4 %%Ei 2(/(\)(;)7 2-2-3 | 34.7)97.1 | 1 456 /Jzi;&%é%iﬁérpz
LTS EEE BT AT #8) | yasso L
FILTAHFF 3 it 4 EE’%I%%K (22:011/.21) 6-7-8 [34.8| 92.8 | 11 | 444 Egég (E®)
LRTA RRZN BiO—HOu Y 2 5 e nsr—i
AXENETSA i 5 sbgﬁﬂ% (21:011/.43) 4-4-5 |35.2| 8.1 | 5 478 %jﬂg)iiﬂ/(ff)/ R
QUL TATILLE BTN LA LR @2 1wk
YALTILY TR i 5 gﬁ_ﬂg%E 2(:10/12.>4 9-9-8 [35.1]88.4| 6 452 ;:;galgéz (@)
LNV IS BT FLILT T 2 a5 -4
.. =HeR . o i — i
gl H-% rrv—n 4 | e e I R I R il b ol
R:77NT5T B:AVIL b Fv—L ERT7—L
algliol @z 751 ¢ 5 | dtHEE 2(;111:;5 9-11-11 | 34.9| 88.6 | 7 (4:326) %gﬁiﬁéfﬁ}y o
RFA—TALT N BxFIFIA b J—H Ty —L
9 6 h—toA Ty 5 sﬁgﬁo 2(:30/14.)6 9-9-10 |35.2| 85.9 | 8 :1_366) ﬁéﬁéﬁ (=)
R:FRTAYIAY—> BE Oy -— ABREM IXF1T77—L4
_ 4 5 | AEES 2:02.2 2-2-2 |36.4|79.8 | 9 466 | FHEEX (XiH)
1007|9 | A —k 5.0 G172 Cop) | ) HrF-L—3vy
R:YPKRYIYRIR B:x%—T774Iy b (B) #AEIA-FKL—Ya>AET7
N 5 : -4 REEE (FE
1118]11| Z77—43 fo4 | BEBE ez 4-4-3  [36.2 79.6 | 10 (4_128) ggﬁa (7#)
RN=VTIL BRFHIFHALE J—HrTr—L
@ 21 L
£ 46.9-34.6

NAZZA L | 13.1-12.0-11.5-12.0-12.5-12.3-12.3-11.7-11.3-11.6

@ 11— —EBIRfL

13—7F-
23—7+— |4(2,9(7,11)(1,5,8) (3,6,10)
33—7— 4(2,9) (7,11)1(5,8) (3,6)10
43— — | (x4,9)(2,11)7(1,8) (3,5)6,10
® LR=
L 4 380 | | 741 K 1-4 300M #e E 1-4 660M 3ER 1-2-4 670M
% B 4 150M 2-4 230M | | /5 = 1-4 760 | | SEE 4-1-2 3,170M
1 150H 1-2 280M 5 B 4-1 1,280M
2 130M

ABICOVWTRDTEEERROODE. TR LIV,



